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QUESTION 1

In one of your online transaction processing (OLTP) applications, table keys are frequently updated and queries
performed using many different operators. 

In addition, reports are generated using complex joins with non-equality operators. What table organization is the best
for this workload? 

A. heap table 

B. object table 

C. external table 

D. sorted hash clustered table 

E. global temporary table 

F. hash clustered table 

Correct Answer: B 

 

QUESTION 2

The database users regularly complain about the difficulty in performing transactions. On investigation, you find that
some users perform long-running transactions that consume huge amounts of space in the undo tablespace, which
caused the problem. You want to control the usage of the undo tablespace only for these user sessions and you do not
want these sessions to perform long-running operations. 

How would you achieve this? 

A. Implement a profile for the users. 

B. Implement external roles for the users. 

C. Set the threshold for the undo tablespace. 

D. Implement a Database Resource Manager plan. 

Correct Answer: B 

 

QUESTION 3

Which three statements are true about windows? 

A. Only one window can be open at any given time 

B. Consumer groups are associated with windows 

C. Windows work with job classes to control resource allocation 
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D. The database service name must be provided during windows creation 

E. Windows can automatically start job or change resource allocation among jobs for various time periods. 

Correct Answer: ACE 

 

QUESTION 4

What is the effect of increasing the value of the ASM_POWER_LIMIT parameter? 

A. The number of DBWR processes increases 

B. The number of ASMB processes increases 

C. The number of DBWR_TO_SLAVES increases 

D. The rebalancing operation in an ASM instance completes more quickly, but can result in higher I/ Ooverhead 

Correct Answer: D 

 

QUESTION 5

To enable faster incremental backups, you enabled block change tracking for the database. Which two statements are
true about the block change tracking file? (Choose two.) 

A. Multiple change tracking files can be created for a database. 

B. The change tracking file must be created after the first level 0 backup. 

C. RMAN does not support backup and recovery of the change tracking file. 

D. The database clears the change tracking file and starts tracking changes again, after whole database restore and
recovery operations. 

Correct Answer: CD 
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